Block 1:

vl =14 —-—n
v2 :=rb —A
*v2 =1
vB:=vl << 2
v9 :=v2 +v8
*v9 =1
v1i7:=1 —= iy
va2 :=v1 >>1
v26 ;= v2
v34 :=Vv9
v18 := vl ——(n+1—i1)
v19 :=vi
=t =ty x (n+1-i,)
vad :=v42 =0

if v44 goto Block 4
else goto Block 3

Block 2 (no delays!):
v13:=v19divv17

v17 :=v17 + 1
v1i8:=v18 -1
V26 :=v26 + 4
v34 :=v34 - 4
v19:=v13 x v18
*v26 :=Vv13
*v34 :=v13
goto Block 3
Block 3:

v43 :=v17 < v42
if v43 goto Block 2
else goto Block 4a

l

Block 4:

goto *ra

Block 4a:
113 :=v19divv17
*(v26+4) :=t13
*(v34-4) =113
goto Block 4




